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-ES 22| At 50,7803 %2 x27 2 *80% 2,194
= 658
Al 1,536
- ALK& 22l At 46,3203 %22 %27 «80% 2,002
= 601
Al 1,401
-QlEfEA 46,3203 x 122 *24 2 *80% 10,673
& 3,202
Al 7,471
OQ4UEE I3 2,223
SEAVRRIA, ERRIK, EAK 2 22l X
19,552,000 *10% 1,956
& 586
Al 1,370
-QlEfEA 10,674, 000& *2 .5% 267
o= 80
Al 187
201 et d| 105,859 71,806 34,053
o= 31,758
Al 74,101
01 AP 2t 2| H| 105,859 71,806 34,053
O1.48t==2H| 105,859
SARRIEA SR s e
48,4702 1052 x26 2! *80% 105,859
& 31,758
Al 74,101
AAMEEC ASIEZAHERXR) 35,182 34,530 652
< 24,626
Al 10,556
101 Q124 H| 6,287 6,103 184
& 4,400
Al 1,887
04 JI2ZtHIZ22NEE S 6,287 6,103 184
OXAZ2IT &Y 50,7802 *42 * 142 2,844
= 1,991
Al 853
ogauza ¢ 46,320 71 3,289
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